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g H H 4 wooprfskuefel 4H6H |[5H11H| 6H6H | TH6H | 8H3H | 9H5H |10H5H |11H7H | 12H5H |1H11H| 2H8H | 3H5H
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3IFRITV LR OPZED|A Y| meg/L [0.003 — — 0.0003 A3 — — 0.0003 A7 — — 0.0003 ¥ — — 0.0003 A3
41k 8B & 8 = @ b A& | me/L | 0.0005 — — 0.00005Aifs — — — — — — — — —
5L v B O 0k & #| mer |0.01 — —  |0.001AK¥m| — —  |0.001K3m|  — —  |0.001Am| — —  0.001 A5
6ltn & 0 = @ b & | mgL |0.01 — —  |0.001K3m|  — —  |0.001K3m|  — —  |0.001K3m|  — —  0.001 A5
Tl % & O 2 o b & #| me/L |0.01 — —  |0.001AFw| — —  |0.001A7w| — —  |0.001AFw| — —  0.001 A
gl i 7 = A b A | meL [0.02 — — |0.0024m|  — —  |0.002K%| < — —  |0.002K%| < — —  |0.002Ki5
9 |H 4 B % H| me/L |0.04 — —  |0.004AKT%G|  — — — — — — — — —
10|> 7 A A 4 R UL 7| mg/L | 0. 01 — —  |0.001ATw|  — —  |0.001AKTw| — —  |0.001AKTw| — —  |0.001 A
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14| i) {k |75 F| me/L | 0.002 — — 0.0002 A5t — — 0.0002 45t — — 0.0002 A5t — — 0.0002 A i
54~ ¥ 4 F % | mgL [0.05 — —  |0.005Km| — —  |0.005K7m| — —  |0.005K4m| — —  |0.005A
6| SO ET A O e {004 | — —  |o.004ski|  — —  |o.004kii|  — —  |o.004ski|  — —  |0.0045k
17l 7 v o=w 2 &% | mgL |0.02 — —  |0.002K|  — —  |0.002K7|  — —  |0.002K%|  — — |0.002A3i5
87 r 7 7287 = F L | mg|0.01 — —  |0.001K%| — —  |0.001Km|  — —  |0.001Km|  — —  0.001 A5
9 UV 7 v v = F L mgl |0.0] — —  [0.001ATw|  — —  |0.001A4m| — —  |0.001A4| — —  |0.001 A4
20|~ v ¥ >| me/L | 0.01 — —  |0.001A%| — —  |0.001A¥m| — —  |0.001Am| — —  0.001 A
21 |4 =S | me/l | 0.6 — — 0.08 — — 0.16 — — 0.10 — — 0.07
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3lf&x v & 7 A F v F| mg/L |0.08 — —  |0.008¥m|  — —  |0.008¥m|  — —  |0.008im|  — —  |0.008A
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3B T A =T L EDLA Y| me/l | 0.2 — — 0.02 A5 — — 0.02 A5 — — 0.02 A5 — — 0.02 A i
Ml B O = o b & | meL | 0.3 — — 0.03 A7 — — 0.03 A5 — — 0.03 A3 — — 0.03 A7
3B & N o b A B me/L | 1.0 — — 0.05 A3 — — 0.05 A3 — — 0.05 A3 — — 0.05 A3
36| FU T A K OE DAL A | me/l | 200 — — 6.2 — — 7.3 — — 6.6 — — 6.5
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54~ ¥ 4 F % | mgL [0.05 — —  |0.005Km| — —  |0.005K7m| — —  |0.005K4m| — —  |0.005A
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o1l ~ U N m 2 & | mel | 0.1 — — 0.012 — — 0.017 — — 0.006 — — 0.007
28| Uz m m EE B me/L [0.03 — — 0.006 — — 0.006 — —  |0.003K| — — 0.004
297 2= v 7 uua 2% a|0.03 — — 0.003 — — 0.005 — — 0.002 — — 0.002
30[7 = = A& A A mg/L |0.09 — —  |0.001Km| — —  |0.001K%H| — —  |0.001K¥H|  — —  |0.001 K75
3lf&x v & 7 A F v F| mg/L |0.08 — —  |0.008¥m|  — —  |0.008¥m|  — —  |0.008im|  — —  |0.008A
208 4 & O % © b A | me/l | 1.0 — — 0.05 A i — — 0.05 A i — — 0.05 A i — — 0.05 A i
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5 kv v B 2 o b A& B mn 0.001 A7 0.001 A5
6 th X v = o f{ A | mL 0.001 i 0.001 A5
7Tl £ K OO O o A W mer 0.001 0.001 i
8 I~ M s w A At & B meL 0.002A4 i 0.0024 5
9 [ i ik i %= #|  me/L 0.004A4 7 0.004 A5
9 L7 vk AaF v R OHE ALY T | mgL 0.001 A4 0.001 i
10 |y me fe %= & K O B MY M OREE B meL 0.3 1.7
1l v £ &k ® 2 o &t & Y wL 0.37 0.42
121 v F kK 2 o & A& B mL 0. 1A 0. 1 A3
13 | i 1t fi #|  meL 0.0002 i 0.0002 i
14 |1,4- 2 7+ ¥ VA »| meL 0.005 A7 0.005 A5
5 |0 20 8, Y e 0.00454 0.00451
I A = 7oA 4 Y| meg/L 0.0024 i 0.002 i
VAN P2l N = S = S S S ] T 0.001 i 0.001 A
s~ vV 7 v v = F L o mgL 0.001 A7 0.001 A1
19 |~ v ¥ > me/L 0.001 A 0.001 it
20 & e g mg/L — —
21 VY = = 3 i3 mg/L — —
22 |7 = IR Jb VA mg/L — —
23 v = = W f2l me/L — —
24 | 7 wm E® 7 m v A KX v mg/L — —
25 |&= e i3 mg/L — —
26 & 3 ) N = A i Vg mg/L — —
27 Iv v % = = ik 2| me/L — —
217 v ® ¥ 7 m v A K v mg/L — —
29 |7 = £ AR L U mg/L — _
30 IR % A T JL VA | R mg/L — —
31 | % K W F o b & M| meL 0.05 A3 0.05 A3
R ArI=0 Lk BE OIS Y mL 0.04 0.13
B K O 2 o A& W mer 1.4 0.03 A7
3 B X O F o b A& W meL 0.05A i 0.05 A
3BT FYU Y A KB E DAL A W meL 5.8 8.1
6|~ v H v kO E 0 A B me 0.15 0.005A 73
37 & e 7 A 7+ NG mg/L 5.0 AT 6.3
3 v v, v~ 7 %y n% (@ E) meg/L 26 61
39 |7 % % = W me/L 63 120
40 B2 4 A& v R om W& M A meL 0.02A i 0.02A4 i
41 | S 7+ 2 3 »| me/L 0.000001 A3 0.000001 A<
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44 |7 ES J — g | me/L 0.0005 i 0.0005 i
45 |5 # # ( TOC © & )| meL 0.8 0.4
46 |p H i 6.9 7.1
47 7S — —
48 |R & TR B2
49 | i3 i3 15 1B ST
50 | i3 i3 2.6 0. LA
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K W (& = oA ) B i fatyahcn
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